Gehity

£

= 5)
\FASE/
SEREC204E10 29 H
% v

2t 4 " E B & % X & 1

f £ #F 4 B &ZALE N R

(=2 —FF&HB 9008 HIAHFFE 1)

A% BEe 40| A &AW

BREHEYHEE A KR B

( & & 042 — 337 —31235)

2D E A (S B L O L —T S D B EbE

P21 A B 20U O YA B LU b — T 2R E DU S W TR IS WL ET,

EW
ERR214E3 H ] 20U -1 (4 ~9 A )=
[T AN EET —#]
L e S
REEHGEESE)
O 1Y N= (AL T AL %)
A4 bR
T 1 187,765 0.5 %) 138,730 WF 49,035
£ 4 136,133 1.7
& 3 323,898 1.0
)i ScL TGN (HAL: "M, %)
A4 b
& A 17,287 0.5 %) 15,331 W 1,955
£ o 23,173 0.8
& B 40,460 0.7

HEEHNRYTIL—T

(AL E T, %)
e b T4 L

&  Ft 11,565 2.5
KHEBHNRT N —T1F, REEHNR, TLE SRR, TEARRFG
REARRE HEARNEFFO SO 5 lfE Th D,

TR GIE
REBEE
(BN EH M. %)
5t b FIE S
oo1E )5 45,972 -2.4
B EE R BB 6,071 -3.8
& Bt 52,043 -2.6
mEXLT
(BN EH M. %)
5t b FIE S
& F 20,818 3.0




LoY— e R

RETSHHRTIL
__ (BT EHTTH %)
- 5t rm HI4E L KEBME
o = 10,803 -5.9 A4 86.3 Hi4E  87.1
N £ T 1,407 -7.3 K4 73.7 Hi4E 79.8
% JEE 826 -9.6 A4E 65.6 HI4E 715
& E 13,037 -6.3
<THE>
ER%204E9 R SEAR I
[FELT AN EET —#]
T 3
REEHGEESE)
O] PR YNE (AL T AL %)
HI4E L
iE 1 31,213 1.2 4% 22,788 W 8,425
£ #4 22,168 2.3
& i 53,381 1.6
D) &S IPN (AL EH M, %)
HI4E L
iE 1 2,850 0.7 @ 2,515 W 334
£ #H4 3,776 1.7
& E 6,627 1.2
mREEHN\RYTIL—T
__ (BT EHTTH %)
) e L (K
& 1,972 4.2
NI EEHRANAT N—T 13, HEBHNA, FEANAR, T E AR
WIS, HEANRNEFH OO 5 H#E ThD,
R GEE
REBEE \
__(HAZ:EHTTH %)
N e Fre HI4E L
I 6,784 -0.3
B )R 919 -2.3
& Bt 7,703 -0.5
mEXNT
__(HAZ:EHTTH %)
) e b (K
& Bt 3,346 1.6
Loy — P —ERE
RETSHRTIL
__ (BT EHTTH %)
- 5t Irm HI4E L KEBME
b = 1,556 -15.7 A4 81.7 HIi4E  84.4
N £ T 188 -25.2 A4 62.6 K 79.5
% JEE 114 -20.2 KA 52.9 B4 69.0
& E 1,859 -17.1
LA S




	2008.9(TDnet)

